

GEOGRPAHY TERM 6 YEAR 9 HOME LEARNING PACK LESSON 6

Complete quiz A and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.

QUIZ A
a. How much of the UKs food is imported?
b. State one reason the UKs food is imported.
c. Identify a negative impact of importing food?
d. What is organic farming?
e. State one advantage and one disadvantage of using organic farming. 
f. What is agribusiness?
g. State one advantage and one disadvantage of using agribusiness. 
h. Why has water use in the UK increased?
i. Why is there a water deficit in south-east England?
j. Why is there a water surplus in central Scotland?
k. What is a water transfer scheme?
l. Identify how much of the UKs water is clean.
m. State two causes of water pollution. 
n. State two impact of water pollution – one social and one environmental. 
o. State two ways water pollution is managed. Use specific examples. 

PRACTICE EXAM QUESTIONS
1. Suggest how inequalities in the consumption of resources influence well-being. (3 marks)
2. Explain how inequalities in the supply of resources influence social well-being. (3 marks)
3. Discuss how modern farming methods in the UK can impact on the people and the environment. (6 marks)
4. To what extent is it preferable to source food locally in the UK rather than import from abroad? [6 marks]
5. Study Figure 10, comments from a government report into water quality and pollution in the UK. Discuss the challenges of managing water quality and pollution in the UK. Use Figure 10 and your own understanding. (6 marks)
6. Assess the effectiveness of water transfer schemes in meeting the UK’s changing demand for water. (6 marks)
7. Study Figure 9, a graph showing the UK’s energy mix from 2006 to 2016. Using Figure 10 and your own understanding, discuss the issues arising from the UK’s changing energy mix. (6 marks)
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The Environment Agency has asked water companies and farmers to reduce
he number of pollution incidents harming England’s waters. They have also
said penalties for pollution should be made tougher.

The number of serious pollution incidents has reduced since 2001, but there
were still 317 in 2016.

The most common reasons for rivers having poor water quality were pollutants
rom farmland and sewage. These produce algae and reduce oxygen levels in
he water.

The Environment Agency says population growth, climate change and plastic
pollution are some of the main threats to water quality in the future.
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WORLD'S ESSENTIAL RESOURCES

Food

Food is important because it affects your health. The

World Health Organisation says we need 2000-2400

calories per day to be healthy. If you do not have

sufficient food you become malnourished or suffer

from undernutrition.

+ Food surplus: North America, Europe, Australia,
Russia, UK, USA

+ Food deficit: Africa (e.g. Chad, Congo, Ethiopia)

Water

FOOD n the UK

Water is important as we need it for our health and for
economic development (agriculture, manufacturing,
cleaning, drinking).

« Water surplus: areas where there is high rainfall and
water storage (aquifers/reservoirs). E.g. USA,
Canada, Europe, Russia

* Water deficit: areas where there is low rainfall and a
lack of water storage. E.g. Africa, Brazil, Argentina,
Australia, China.

Energy

energy used).

WATERin the UK

Energy isimportant because it s used to build homes, heat homes, power machinery,
make food...etc. It is also traded between countries and so helps a country develop.

HICs consume (use) far more energy than LICs and NEEs.

+ LICs - use very little energy (few machines, lack of processed foods, few families use
power in their homes).

+ NEEs— use more energy (increase in factories = increased use of machines = more

+ HICs— use the most energy (lots of energy used in industries and homes, people eat a
ot of processed foods.

ENERGYin the UK

40% OF FOOD IN THE UK IS IMPORTED.

Food s cheaper to make food in LICs.
Demand for exatic foods {mangoes, bananas)
Demand for seasonal foods all year round.

>
>

»
Why? <
> Some foods cannot be grown in the UK.

Water
surplus

Areas with high rainfall and low population (Wales
& Scotland)

s...

The UK’s energy mix

* 52.6%fossilfuels, 21%nuclear energy,
247 renewable energies

Water
deficit

Low rainfall and high population (south east
England and parts of central England).

Increase in food miles (distance travelled by food
to our plate) = increase in carbon footprint (the
amount of CO2 a country produces.

Problem:

SOLUTION

Wateris moved from areas of surplus to areas of

Water | deficit. The government proposed a UK wide water
transfer | grid in 2006, however it was not built due to high
scheme | costsand impact on ecosystems. Some water

transfer schemes do exist.

Fossil fuels will be
used less because...

a) 75%of oil and gas reserves are gone

b) 100%of coalfieldsare closed down

o) The EU fines companies who release too
many greenhouse gases

Renewable energies
will be used more

because...

The government has been investing in these
sources.

Small scale farming that produce local, seasonal
food without the use of chemicals.

Organic
Farming
+ Usesnatural predatorsinstead of pesticides
+ Croprotationis used instead of fertilisers

« Grows seasonalfood locally.

Itis usually more expensive because yields are low
(less food is produced) and more people are
employed, due tolack of machinery used. This
means they need to charge a lot to make a profit.

Disadvantage

The demand for water in the UK has increased in recent years. In fact
households use 70% more water. This s because:

+ More wealth = more household appliances that use water

« Population increase & people wash more often

HOWEVER ONLY 27% OF WATER IN THE UK IS CLASSIFIED AS CLEAN.

Fossil fuels will

continue to be used

because...

energy infrastructure is expensive

Economic and Environmental impact of each energy type

Agribusiness | Large scale intensive farms that use lots of
machinery and chemicals to increase food

production.

+ Hedges are cut down = large fields

+ Machinery (combine harvester, tractors)

*  Fertilizers used toadd nutrients tothe soil

+ Technology —GM crops, hydroporics, high
yielding varieties

Adventage More food can be produced

imported. Use of machinery
employed =cheap food.

Disadvantage | It can harm the ecosystem due to use of chemicals =

water pollution.

« Fertilizers in farming go into rivers
+ Chemical waste from factories pollutes rivers
+ Sewage is pumped into the sea

+ 0l from cars and boats goes into rivers/sea

Causes

Fossil Fuels

'Waste from factories = toxic water = harm
wildlife & humans

Fertilizers get into water = growth of algae = lack
of oxygen and light in the pond = wildlife die
(eutrophication)

Bacteria from sewage plants = diseases in river

Impacts

w

. Coal must now be imported from South Africa.
Fossil fuels release greenhouse gases =globa
rming. The impacts of global

rming are

expensive to fix

En. Greenhouse gases =global warming.
En. Coal mines need land to be cleared =loss of

habitats

En. Waste from mines = visual and noise pollution

Renewable
Energies

New infrastructure is expensive to build
hey are unreliable

+ En. Wind turbines and solar panels =visual and
noise pollution and affect ecosystems.

a) Coalis cheap toimport
b) Newnuclear stationsand renewable

UK has strict laws to control waste production

and disposal

Chlorine added to water to remove bacteria.

Management | * Water treatment plants remove bacteria, algae
and chemicals

+ Sewage systems are improved (e.g. the Tideway

project in London)

Nuclear
Power

expensive.
En. Warm water waste can harm local ecosystems
En. Radioactive leaks harm people and wildiife (e.
cancer)

. Nuclear power stations are expensive to build
billion)
. Radioactive waste must be carefully stored =





